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Home work answer is option B (14cm)
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In the triangle ABC, BR is internal angle bisector of 2B and CR is external bisector of
ZC. A line RQ s drawn parallel to BC which intersects AB and AC at point P and Q
respectively if CQ=11cm PQ= 3cm then find BP?

f8[sT ABCH, BR,£B T AR HIVT GfAsTs® § 3 CR, LCHT SET FHI0T
aﬁm%lWT@TRQBC#W@%&W%mAsaﬁTAcaﬁWﬂ

fig p 3t QX Fredh 8] 3 ca=11cm PQ =3cm @Y BP 7T FI?

a)8cm
b)14cm
c)17cm
d)8.5cm
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If AB| | CD then find the value of a+f+y?
IfS AB||CD & A a+B+y T AT ATT HIToTT?

a)180°
b)270°
c)360°
d)240°
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In the given figure, find 2ZA+4B+4£C+4D+4£E?

feu 1T R A LA+4B+2C+£D+LE T AT g ? HIBE

a)270°
b)180°
c)360°
d)540°
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Concept:

A
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In the given figure, find value of x?

T aT RT A x FT AT EPT ?
01:00

a)105°
b)120°
c)60°
d)95°




SSC 2022+ CGL+CHSL+CPO / A at 06:30 PM

In the given figure, find x:y ?

Rw T R F woy AT FE 2 01:00

a)l:2
b)4:5
c)2:3
d)3:4



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

Find the value of (x+y)?

(x+y)3RT ATl AT H ? ﬂlmm

a)130°
b)80°
c)180°
d)90°
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If BD and CD are interior angle bisector of 2B and
£C respectively . Then Find value of x?

gfe BD 3R cD FAA: £B 3R 2C F 3TAREF FHor
glasTas g1 99 x F A Ad HifAw?

a)90°
b)75°
c)65°
d)CND
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Concept:
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Concept:
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Three lines I,m and n are parallel then find x?

:n%ﬂ'i'@WImBﬁTnW%H’fxm ﬂlmm
o

a)7.5
b)12
c)18
d)6.75
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In the fig given below PQ| |RS| |TU| | VW,

PR=20cm, RT=44cm, TV=32cm, QW=84cm then find QS? ﬂlmm
A few arw =T & PQJ|RS||TU||VW,

PR=20cm, RT=44cm, TV=32cm, QW=84cm dI QS ATd HIfare?

a)15cm

b)17.5cm
c)22.5cm
d)12.5cm
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In the given figure AB || CD|| EF || GH, and
BH=160 then find the value of (x+y+z)?

few ;v AT A AB || CD|| EF || GH, 3
BH=160, dT (x+y+z) &T AT ATT HU?

a)111
b)126
c)134
d)108
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In the given fig below AB| |CD| | EF, if AB=29cm, EF=57cm, AC-—CE and BD |s X
cm less than DF then find CD=?

#r few v T & AB||CD||EF, f¢ AB=29c¢m, EF=57cm, Ac_—CEsﬁT BD,
DF ¥ x QHI F& g 8 cD FT AW AT HIfAT?

a)41lcm
[ pe

c)45cm
d)40.5cm
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if IlIm]ln|lpllqg anda; azaz;&a, are

in A.P. with common difference of 2 cm if AE=44 cm, ﬂlmm
Gl=42 cm, then find FJ?

a)99
b)77
c)66
d)84



